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Logical Reasoning Questions for CLAT Exam 

CLAT Reasoning Quiz 22 

Directions: Read the questions carefully and choose the right answer. 

1. Select the related word from the given alternatives. 

Chiku : Fruit : Supermarket : : Novel : ? : ? 

A. Book : Stationery   B. Book : Bookstore 

C. Book : Shop    D. Shop : Market   

2. A series is given with one term missing. Choose the correct alternative from the 
given ones. 

ADC FIH KNM ? 

A. PQR     B. PRS 

C. PSR     D. SPR 

3. Select the one which is different from the other four responses. 

A. Ideal    B. Abort 

C. Saint    D. Ocean 

4. Statements: 

No figure is an image. 

All snaps are images. 

Conclusion: 

I. All snaps are definitely not figures. 

II. At least some images are figures. 

A. Only conclusion I follows  B. Only conclusion II follows 

C. Either conclusion I or II follows D. Both conclusions I and II follows 

5. A series is given with one term missing. Choose the correct alternative from the 
given ones. 

7341    6432    5523     ? 



 

 

A. 6614    B. 3614 

C. 4614    D. 4523 

6. Rajan left his home and walked 90 metres in the east before turning to his right. He 

went 30 metres before turning to his right. After that he walked 20 metres and finally 

he turned to the north and walked 60 metres. In which direction is Rajan from his 

home? 

A. East     B. North 

C. South - east    D. North - east 

7. A man said to a girl, 'Your mother's husband's sister is my aunt.' How is the girl 

related to the man? 

A. Mother    B. Sister 

C. Aunt     D. Daughter 

8. A series is given with one term missing. Choose the correct alternative from the 

given ones that will complete the series. 

Egg, Caterpillar, Chrysalis, ? 

A. Grasshopper   B. Butterfly 

C. Cricket    D. Locust 

9. Select the related word/letters/number from the given alternatives. 

ACD : ZWX : : FHJ : ? 

A. QSU     B. UQS 

C. SQU     D. USQ 

10. W is 8 ranks ahead of Z in a class of 49 students. If Z is 18th from the bottom, what 

is W’s rank from the top? 

A. 23rd     B. 22nd 

C. 27th     D. 24th 
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Correct Answers: 

1 2 3 4 5 6 7 8 9 10 

B C C A C D B B B D 

 

Explanations: 

 

1. The second is a class of the first and is available at the third. 

Hence, option (B) is correct. 

 

2.   

 
Hence, option (C) is correct. 

 

3. Except Saing, all others are begin with a vowel. 

Hence, option (C) is correct. 

 

4.   All snaps are images (A) + (  No figure is an image (E) → conversion → ) No image 

is a figure (E) = A + E = E = No snap is a figure. Hence conclusion I follows. 

Again, 

No image is a figure. Hence conclusion II does not follow. 

Therefore, option (A) is correct. 

 

5. 7 – 1 ⇒ 6 – 1 ⇒ 5 – 1 = 4 

3 + 1 ⇒ 4 + 1 ⇒ 5 + 1 = 6 

4 – 1 = 3 – 1 ⇒ 2 – 1 = 1 

1 + 1 ⇒ 2 + 1 ⇒ 3 + 1 = 4 

Hence, option (C) is correct. 



 

 

6. 

 
Hence, option (D) is correct. 

 

7. Girl's mother's husband's sister = Man's aunt 

or, Girl's father's sister = Man's aunt 

or, Girl's aunt = Man's aunt 

Hence,  Girl = Man's sister 

Therefore, option (B) is correct. 

 

8. The given sequence is life cycle of Butterfly as given below in the image. 

 

Hence, option B is correct. 

 

 



 

 

9. The corresponding letters are the same - positioned letter from the right. 

However, the second and the third letter interchange their positions. 

 

Similarly, 

 

Hence, option (B) is correct 10. 

 

10. W's rank from bottom = 18 + 8 = 26th 

∴ W's rank from top = 49 – 26 + 1 = 24th 

Hence, option (D) is correct. 
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